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Ther is no rose of _  swych vir - tu as is the rose_ that bar_ Jhe - su.
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Ther is no  rose of swych vir - tu as 1is the rose that bar Jhe - su.
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Ther is no rose of swych vir - tu as 1is the rose that bar Jhe - su.
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Ther is no rose of swych_  vir - tu as is_ the rose_that bar Jhe-
For in this rosecon - tey - ned was he - ven_ and erthe.in 1ly - tyl
Be that___ rose we may__  weel see that he__ is God_ in per - sonys
The aun - gelys sun-gyn the shep - herds to: «Glo-ri - a in__ ex - celsis De-
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Ther is_~ no rose of swych_  vir - tu as is_ the rose that bar Jhe-
For in__ this rosecon - tey - ned was he - ven_ and erthe in ly - tyl

Be that rose we may_  weel see that he is God in per - sonys
The aun -gelys sun-gyn the shep-herds to: «Glo - ri - a in ex - celsis De-
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